EARAROBREBRT —5 XN—ZXBISH—F 202438148 (R 13@I11I548

LW >%3% 10 BRI
[xE<] 1 7% :2,000,000 3 . 23 :800,000 .~ 33&:500,000H  43&:300,000 3 . 5 3&:200,000 3
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
N LLIlEER t= :33. -2-2- . - oAz (g
11515 | HF—LyamAg B3 e 1(3_3)4 2-2-2-1 | 40.9 1 (4_861) b=
R:FTIWAI— B:IAIRAT—Va 75 Mg
s 3 | HBES 1:35.3 4-4-4-3 | 42.3| — 4 451 | LLEBE (11IE)
7 4| 7—= 54.0 ©) ) | B s
R:7ZIVTFAY B:HUIILIaA s
=_ o3 | REEZ 1:35.5 1-1-1-2 | 43.2| - 2 495 | ESE— (1iE)
3 3| I=E—/ 56.0 ) (+13) | PREZ
R:U—FHISHY §:OVRIVYI =% E=x
= ~ 3 | LS 1:36.1 8-8-8-8 | 41.7| - 3 | 477 | FHEE— ()
N IEBINZ»2 "3 R 3 R
RUAVFA—R B /=R T7III— IREHUS
= 3 = 4 3 | BEHRER 1:36.2 5-5-6-6 | 42.8| -— 5 430 | REAEB (11IE)
5189 F4—/Y3v=3 54.0 (3/4) “1 IRANSFE
RIIEAVUR B:TUF404— AMT 7— L
o gn b [EAT AR :36. -3-3- . - ZIRFB (1IIE)
6 6| 7 IIN—=TSK— 30 (11 316/25) A Rt ? 3_42‘; B
RiALYITSvIEIL B:ANATSRYST— s ze]
N <, O~ EilERS :36. -6-5- . - R (1)
ARIR A E Pk ard % 3 | HR %9 | 654|435 T | e mLoor
SRPIWFNSY2 B:Od-VFYT4TS brat e
= EHE : -9-9- - oEE (&)
slgls IATHYS 4t 3 i 1.(358).0 9-9-9-9 | 43.6 8 (4_135) Fledl | &
RT—IVRFII— 894 IFR—I HyO—tY
. <, sy AHIESE :38. -7-7- . - SRR (111E)
9l7|7|FNW—LrIvr— 3100 1(33/84)2 N e ° (4317) iéi%—ﬂﬁ
RIIEAUR B:HY—RVTATSR LIEFH15
@ 11— —‘@BIEfI
10—7+— 3,5,6,4,9,1,7,2,8
23—+ — 3,5,6,4,9,1,7,2,8
BEIESSES 3,5,6,4,1,9,7,2,8
43—F— 5,3,4,1,6,9,7,2,8
0 ILRE
BB 5 120/ JA R 4-5 250 & 4-5 670 3EE 3-4-5 680
B B 5 100M4 3-5 1604 =] 5-4 7004 3EE 5-4-3 2,540
4 170M 3-4 510 5 & 4-5 6304
3 1309 BB 5-4 810

ABIC OV TRUTEREERRODDZE. THRIIZEL.



